
Otsekorrutamine
1.

A = 011001
B = 101101
P0 = A
P1 = 0
P2 = L2(A)
P3 = L3(A)
P4 = 0
P5 = (L5(A))t -32*A

Viide: 5 * ΣΣ viide
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2.

Viide: 3 * ΣΣ viide

3.
Kasutada: mittetäissummaatoreid

Väljund ΣΣ ⇒⇒ FA
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ΣΣ1: P0 00011001
P1 00000000
P2   01100100
C1 00000000
S1 01111101

  L3
ΣΣ2: P3 00011001 (000)

P4 00000000
P5   10011100
C2 00011000
S2 10000101
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ΣΣ3: C1 000 000 000 00
S1 000 011 111 01
C2  001 100 000 00
C3 000 000 000 00
S3 001 111 111 01

ΣΣ4: C3 000 000 000 00
S3 001 111 111 01
S2   100 001 010 00
C4 000 001 010 00
S4 101 110 101 01

FA: C4 000 001 010 000
S4   110 111 010 101

  A*B 111 000 100 101

Viide: 2ττ + 2ττ + 2ττ + 5ττ = 11ττ
           ΣΣ1      ΣΣ3       ΣΣ4   FA

     ΣΣ2   LACG
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Organiseerida max. kiire korrutamine

N: A = -6 ⇒⇒ 1010
B = -5 ⇒⇒ 1011

P0 = 1111010
P1 = 1110100
P2 = 0000000
P3 = 0110000

ΣΣ1: P0 1111010
P1 1110100
P0   0000000
C1 1110000
S1 0001110

+
- A
3 0

+
- B
3 0

ΣΣ1

ΣΣ2
FA

P0

P1

P2

P3

C1

S1

C2

S2 A * B



ΣΣ2: C1 11100000
S1 00001110
P3   00110000
C2 00100000
S2 11011110

FA: C2 01000000
S2   11011110

00011110

A*B = +30

Viide: 2ττ + 2ττ + 5ττ = 9ττ
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Sektsioneeritud korrutamine

A * B = AL*BL + L(k)( AH * BL + AL * BH) +
+L(2k)(AH * BH)

k = 3
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A: 011 100 = +28

B: 010 101 = +21

ΠΠ1 = 10100 AL ⋅⋅ BL = 4 ⋅⋅ 5 = 20
ΠΠ2 = 01111 AH ⋅⋅ BL = 3 ⋅⋅ 5 = 15
ΠΠ3 = 01000 AL ⋅⋅ BH = 4 ⋅⋅ 2 = 8
ΠΠ4 = 00110 AH ⋅⋅ BH = 3 ⋅⋅ 2 = 6

ΣΣ1: 000010100 (ΠΠ1)
001111000 L3 (ΠΠ2)
010001100

ΣΣ2: 000001000 (ΠΠ3)
000110000 L3 (ΠΠ4)
000111000

ΣΣ3: 000010001100 (ΣΣ1)
000111000000 L3 (ΣΣ2)
001001001100
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